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Please make sure that the printed pages in this question paper are 16 in number
and it contains 13 questions.
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The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book. :
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Don'’t leave blank page/pages in your answer-book.
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Except answer-book no extra sheet will be given. Write to the point and do not
strike the written answer. :
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Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination
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(iii) G T P g FHA 7 SE [T R T & WWW@WW?}!
General Instructions :

(i) All questions are compulsory.

(ii) This question paper consists of 13 questions which are divided into four
Sections : ‘A", 'B', 'C' and 'D' : '

Section ‘A’ : Question No. 1 of this Section has forty (1-40) Objective Type
questions. Each question carries 1 mark.

Section 'B' : This Section contain six questions from Question Nos. 2 to 7.
Each question carries 2 marks:. ' : '

~ Section 'C': This Section contain four questions from @estion Nos. 8 to
' 11. Each question carries 4 marks.

Section 'D': This Section contain only two questions, Question Nos. 12 &
13. Each question carries 6 marks.

(iii) In both the 'questions of Section 'D' internal choices are given. You have to
attempt only one alternative,

2031 i
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SECTION - A '
QU - &
[T axglae g9t & gv &

Answer the following objective type questions :

1 (1) A={x: xT Q% der ¥ ﬁ—% sx$—é-},ﬂ"ﬂ?ol'q A i G Y- 1

(e, e, UF)
A= {x:.xisaninteger—% & XS %}, SPtA 18 seiiiin set.
' ' ) {Nﬁll, Infinite, Singleton)
(2) AR GIET AH 4 o € A TP TR QLA H ... .. 3Egq B 1
S (4, 8, 12, 16)
If set A contains 4 elements, then its power set has ........ ..... elements.
4, 8, 12, 16)
L 2W . om 2T - ") ‘ 11
3) sin“—+cos”“——tan“— F AM ...cvvivnenn. Bl o l=-==,1,-1 1
©) 6 8 .4 - [ 2°2 )
The value of sin? g +cds_2£—tan2% is equal to ............... .

3

(4) & A={a, b c.d e} W B={aeio0 u), NGAI AN B=............ 1

If A={a, b, ¢.d, e} and B = {q, e, i, 0, u}, then the sct A A B is equal

|« s
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(5)

(6)

(7

8

(4)

qﬁugaqsﬁzl,Tﬁazaﬂr3uTﬁ4zm%,ﬁmeTﬁ -----------
g B 1

If set S has 21 clements, T has 32 clementsand S U T has 42 'elcmcnts,

then S Thas ............ : élements.

A ={1,2 3 4 5 ..., 14| T dT RN A § A W IR ¥ el
R={xy:y= SxxyeA}f?er:rREﬁrqrra(Range)%{ ........... }| 1

Let A=({1, 2, 3, 4, 5, ....... , 14}. A relatlon R is defined from A te A where
R={x, y): y=3x, x, y € A.. Then rangc of relation Ris {........... }.

100 cmﬁwaﬁaﬁ%%ﬁwzz cmwﬁﬁmmm@zﬁww%ﬁ
Y T \ . (=2 ) 1

Find the dégree measure of angle subtended at the centre of a circle of

radius 100 cm by an arc of length 22 cm. - ' (Use nt = %—)

o tanx =2 S AR AT A W onxFATE e

If tanx =%, x is in 3rd quadrant, then the value of sin xis :

4 : 4
@z B 5

3 ' 3
© - .. ® 3
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9) qﬁtanx=%,ﬁTsin2x?ﬁl'qﬁ%: : k _ 1
4 4
(A) 5 (B) e
© D) 1

If tanx= % , then the value of sin 2x is :

|
4 - 4 :
(A) = | | (B) =
(€) - (_D) 1 i | |
(1r0) R x=" G sin3x +sinx oD 3
8" " cos3x+cosx -
(A) g 1 ® 1
© o0 - (D) & & 3 T
If x-=£, then SHOFHENE i equal to :
8 cos3x+cosx
(A) e f (B) 1
(© o ’ (D) ané 5t these
2031 | | | P.T.O.
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(6)
(11) tan 15° % 7 & :
(A) 2-43 | (B) 2+v3
W '
C) 1-— ; -
(€}, = (D) & & T
The value of tan 15° is :
) 948, - : (B) 2++/3
©) 1—715- .« [0) Nonsot these
(12) cos[%-x)c_os[%—y} —sin[%—x}sin(%—y) AN R
(A) cos (x +1y) ; (B) cos (x —y)
(C) sin (x+y) ' (D) sin (x-y)
The valule of cos(%—-xjcos[%-y]- sin[g—xjgin(.g ,_-yJ is :
(A) cos (x+yY) (B) cos(x-y)
(C) esin (x +y) (D) sin (x-yY)
(13) 3l (x _-2) +(y+ ]‘flv‘a{ 3~ 44, E?f x'a?ﬁ‘yiﬁr.‘:lﬁ (4 Mo, ol

If (x.— 2)+(y+1)i=3+ _41', then the value of x and y are ..............

...............

(14) AR 3x-7>5x— 1, Wx F A Py AR A E, a8 &«
(A) (-0, 3) y (B) (-, =3)

©) 3, - ;i (D) (3, )
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If 3x—-7 > 5x - 1, then the value of x lies in the interval :

(A) (-0, 3) ' (B) (=, -3)
© (-3, - (D) (3, )
(15) °m; <% B, qsrqﬁ% .............. - ' 1

..............

The value of 6P3 B P, is equal to
(16) 3f Bt TR 8 H rdl O Sn+ 1 Y, & o6 T D o 1

...............

(17) 4 ST 64 & &9 T HEA & ... ! ’ . 1

The geometric mean between 4 and 64 is

If nth term of an A.P. is 5n + 1, then its common difference is

(18) HIeleRy =X (1 +2i)% P AGF & HY i i - 1
Find the rnodlull_.ls of the complex number (1 + 2i)2 .. |

(19) AR "Co="Cg, W N H AT & ..eeeeiinnnen. L N | 1
1If "Cg = "Cg, then thevalueof nis .............. ;

(20) A% AR 3 (A. P.) # 59 9§ 10 AR 1041 & 5 B, @ IGH 1597 W

B o [ * i | 1
If Sth term of an A.P. is 10 and 10th term is 5, then its 15th term
A s n . .

(21) (1+i)* FAF T : | 4
A) 4 ' B) O
) -4 ' (D) 5 & #E 7

2031 : P.T.O.
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(8)

The value of (1+1)? is equal to :

(A) 4 | (B) O

C) -4 | (D) ‘Nonc of thisse

(22) 1%9%@@@#%%%{%4&#%‘16%%3?@617%3 s Rl

f o & FREh T &, 9w ¥ 1
(A) 6561 (B) 3024
(C) 1000 T | I

The number of 4 digit numbers us1ng the digits 1 to 9, when no digit is

being repeated is : .

(&) 6561 SR, L AL L (B)He0a4Y

(C) 1000 & ' -(D) 4° | .
(23) AR a, belT T A (. P) T, A Bt § B B AR ?

et B) b2 =ac
a b -. $iy
G.ushh b e R
b e D) b=

Ifa b, carein G; P., then which of the folllowing is.not true ?

ols w ol o T

(A)

Q|

B) b2 =ac .

D) b=2re

I

(€)

Sl s

(24) R a &R b & B & wead &, @ Frefofea & @ @ o ?
(A) A>G ' (B) A<G
€ A=G . | (D) T A P

2031
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If @ and b are two different positive numbers, then which of the following

is true ?
(A) A>G B) A<G
© A=G (D) None of these

(25) AR T X (+)ve x- F T 120° F AT T ¥, & TaH AT (slope) ¥ ¢ 1
", 48 @ -v3
© - e o -+

- If a straight line makes an angle 120° ‘with positive dlrectmn of x—a:sus
~ then its slope is :

@A) V8 g -3
{C). % i A (D) #_%.
[26)Wy=—8xq%qﬁ%ﬁ€snas% E S — 1
(A) (2, 0) s, PRI (B) s 02 |
G ez Te T ) B
The coordinates of the focus of the parabdla' y2 =-8x is:
B) @O o s s TRl B
() 2,008 . D ©,-2)
(27) gﬁx2+y2n4x.+8y'—'5=0'%%ﬁ%ﬁ?&ﬁm%-: o
(A) (4,-8 - (B) (-4,8) |
@ -4 . D) (-2,4) |
The coordinates of the centre of the circle x2 + Y% -4x+ 8y-5=0 arc:
®) (@, -8) B) (4,8
© (2-4 o D) (-2, 4)
2031 | | g | , P.T.O.
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(28) T 9x? +25y2 =225 & A awr F T T RS
A) 5 (B) 10
C) 3. ' | (D) 6

The length of major axis of the ellipse 9x2 + 25y2 =225 18

@A) S _ (B) 10
(C) 3 : - D6
(29) f&g (1,2) § I Al R 3 y&vRT (slope) AT X@T F THET ... fewssas ¥

The line -g—+% =1 meets y-axis at'thc'point ................ ‘

(31)%(0,0)ﬁ3x+4y+1520@3@@@*&@6@{% .......... |

The length of perpendlcu]ar from (O 0) to the 3x + 4y ¥ 13 =10 8 v ;
(32)- iﬂéga 4x? +9y2 36 a?r GF?E?IT i ol

The eccentricity of the ellipse 4x2 ¢ Qy2 =36 is

selssssnnnnas s

33) Lim2X gram ¥ .......... , TR x WA Y
x—>0 X ! .

. sinx
Lim
x—0 X

is equal t0 «ocieins where xis in radians,

(34) x% AN 3x2 +5x +6 P NIHAT 5T Y

Find derivative of 3x2 +5x +6 w.r. t, x ,

2031
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(35) Lim f(x) TRt f(x)={

(36)

(11) | - 2031

x2-1 x<1 %,

—xz—l_x>1

(A) o - (B) -2

© - - (D) wReRa T

- ] | 2-
Lim f(x) where f(x)={ * 5 1 JCSIis :
x—>1 ' X =] ]

() o e (B) -2
) -1 ' n : (D) Does not exist
5 tan x+ 4 cos x % x & AW T Y : 57, :

(A) 5 sec?x +4 ,sin'_x

(B) 5 sec?x—4sinx
(C) -5 sec’x—4 sin x | - i % i
(D) -5 seczi+4sinx’

The derivative of 5tan x+ 4 cos x w. r. t. xis: ° : S

2

(A)' 5sec”x +4sinx

[

2x—‘f},sin x

(B) S sec
(C) -5 sec?x-4sinx

2

(D) -5 sec x+ 4 sin x

P T0:
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375 6 9 11, 12, 3, 7, 11 @ ##A (Mcan) 3 g W e

T | ' e !
Tﬁc mean deviation of 5, 6, 9, 11, 12, 3, 7, 11 about -Mcan
1 SIS ,
(38)aﬁaaﬁrserm%ﬁrﬁwﬂ%q§:rmwﬁ%? N
(A) PAn B) < PA) : B PANB<MAUD
(C) PAA<PAN B (D) AB <PAv B
If A and B are any two events, then which of the followmg is not truc ?
®) RANB<HA B) PANB<PAUD
(C) PA<PANB) (D) Ha<ﬁAua
39) g E X F @ m-%ﬁapm)f%, \ﬁTP{EGﬂTP}—-— e
PEZ F) & 59 A B ot - 1 |
" If E.and F are such that P(E):%,- P(F)=% and PE and F)=é, then
find P(Eor F).
(4oyaﬁzwﬁﬁﬁmmﬁrw%wwﬁaaﬁﬂmﬁ?ﬁr% 1
® 5 Bz |
LR (D) T A R |
If 2 fair coins are tossed,_‘ then the P(at least one head) is :
1 -1
(A) 3 (B) 2 a
3 > . |
© 3 (D) None of these b

(12) 2031
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SECTION - B
G ug -9
2. &g Fifora 2
Ccos 4x +cos 3x + cos 2x
- - - =cot3x
‘ sin4x+sin3x +sin2x . :
Prove that : Ak : 't
COS 4 + COS 3 + COS 2x
" . - =cot3x
sin4x +sin3x + sin2x
3 sin(-u-s“-] F AF S H 2
+ Find the value of sin[—-ll%).
4. ?Jlﬁx'+iy=a+l_z,??fmﬁﬂﬁﬁix2+y2=ll 2
~ a-i - W o .
. a+ib - S o
If x+iy= —, prove that x“ +y“'=1.
, a-ib _
5. 100@'{1000%3?13?5%ﬁwﬁa@%a&ﬂﬂﬁrmm&aﬁr&mmﬁ 2
Find sum of all natural numbers between 100 and 1000 and divisible by 5.
6. WA y- V3x-5=03K VBy-x+6=0% 9= F FT 5 FP 2
Find the angles between the lines y - J3x-5=0and ng_x+ 6=0.
2031, P.T.O.
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I y=

z4":"?1’()—

I fl)==—

Rrz A -

Prove that :

COS X

(14)
, @ fl(x) s Eﬁlﬁﬂl
, find f'(x).
SECTION-C
e

?Ifffy 2x2 +3x+5 &rdy ?ITﬂEﬁﬁ?Nl

R ofest & S e (S.D.) T AT :

2x +3x+5 T fin ddy :
3x+4

(sin 3x + sin x) sin x + (cos 3x — cos x) cos x =0

(sin 3x + sin x) sin x + (cos 3x- cos x) cos x =0

2031

x 6 10 14 18 22 2% | - 30

f 2 4 7 ) 8 4 3
Find Standard Deviation of the following data :

x 6 10 14 18 22 26 30

£ 2 4 /) 12 8 4 3
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11. F& XI'H 40% Remdt 7R &) 30% s s s & b%ﬁmﬁwﬁméﬁmﬂaﬁﬁﬁ

ﬁﬁwm%ﬂf&%ﬁmﬁmmﬁﬁ At ‘o T a1 e EE g @1 e
THH e S S | 4

In Class XI 40% students.study Maths, 30% study Biology. 10% students
study both Maths and Biology. A .student is selected at random, find the
probability that he will be studying Maths or Biology.

SECTION-D
grg-g

12. uﬁmgﬂm%@(&m%%ﬁeﬁqqﬁzﬁrm% AR ITH PHEEA 1 8, @ IqH
Hﬁﬁﬁcﬂﬁ (common ratio)G?R' Ug ST i . 1 6

If sum of first three terms of a G. P. is :f—g and their product is 1. Find the

common ratio and the terms.

el

OR
T-{f&.a, b, ¢, dj"ﬁﬂ'{é_ﬁ (G.P)# &, E?r T 6 :
(a® + b2 +c?) (b2 +.c? +d?) = (ab+bc + cd)?
Ifa b, c, d qe in G. P., then show ﬁh‘;at 2

@ +b2 +c?) (b? +c? +d?)=(ab+bc+cd)?

2031 | W ©
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13. g (-1, 3) ¥ X@1 3x— 4y - 10 = 0 W W W @ B UL fag & s oo Hf o

Find the coordinates of the foot of the perpendicular from the point (-1, 3) to
the line 3x - 4y - 10 = 0. | '

HYdr
OR

WW%WW#W%@TW%W@% (5, 0) AR (¢4, 0)
&l _ ' -

Find the equation of the ellipse whose irerFices are (+5, 0) and foci at (¥4, 0)
respectively.

2031
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